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FU3 SAPMA

20243 18 1LRH 2024 128 31|
ewl —° | FES | 2% 2% Lhe 29
ARt | BH TE

1] 1/25 | HIXIHE 742l MOO ME 23| 20,000
2 | 2722 | HIXE [HIGE|AtEH QI (AhZI00E ME 2| 100,000
3 | 2/26 | HIXE 72l MOO ME 23| 20,000
4 | 3720 | HIXIE | HIE2IAtEHEQ (AhZI00E ME 2| 100,000
5| 3/25 | HIXE 72l MOO ME 23| 20,000
6 | 4/20 | HIXE [HIGE|AtEH QI (AhZ7I00E ME 2| 100,000
7 | 4725 | HIXE 72l MOO ME 23| 20,000
8 | 5/20 | HIX[E [HIGE|AtEHH QI (AhZ7I00E ME 2| 100,000
9 | 5/27 | HZXH 72l MOO ME 23| 20,000
10 | 5/30 | HIXE H| G 2| HA| XOO02E0¥ 2O A 23| 400,000
11| 6/14 | HXH 712l HOHO& ME 2| 200,000
11| 6/20 | HIXIE [HIG2[ALCHEQI (AhZI00E ME 23| 100,000
14 | 6/23 | HIXE | 2&0[X+=¢ CIPSES] 220
15 | 6/25 | HIX|HE 742l MOO ME 2H| 20,000
16 | 7/20 | HIXIE |[HIGE[ALEHEQI (AhZIO0H ME 23| 100,000
17 | 7725 | HIX|E 742l MOO ME 2H| 20,000
18 | 8/20 | HIXIE [HIFE[ALEHEQ (AhZIO0H ME 23| 100,000
19 | 8/26 | HIX|HE 742l MOO ME 2| 20,000
20 | 9/25 | HIX|H 712l MOO ME 2| 20,000
21 | 10721 | HIX|E | HIE2| At 2l (AhZIO0E ME 2| 100,000
22 | 10/25 | HIX|H 712l MOO Y 23| 20,000
23 | 11725 | HIX|H 742l MOO ME 2| 20,000
24 | 12719 | HIX|H B G2 g el FO00001 Y 23| 4,000,000
25 | 12726 | HIX|H 742l MOO ME 23| 20,000
26 | 12729 | HIX|E | 2HO|Xt+=¢ ME 23| 213
2024H E HIX|E 2 F = 4 5,640,000
20243 0f| ZO| X+ 433
™ o E+0f30|X} 4,804,091
20249 23T = AT o|EZ =) 10,444,524




2. FHEE THBAMAM

712k 2024 1€ 1LRH 2024H 128 3127
=4 g% w4 S &zt LH e = | el FHatel H| 3
UX} 5

11 611 |SYUEE Ads500UN0 6521X| TV 1CH | 1 1,000,000
2 611 |=HEE AOOER7| AFIHE 204K | 20 300,000
3 611 |ZHEE HME00 04 REA 2ch | 2 300,000
4 6/11 |SYUEE MOMO® =3 | - 200,000
51 6/11 |ZHEE SHOZO X7 10 Q| o[ 2 300,000
6| 6/11 |ZHEE EZOO =715 1074 71| 10 200,000
71 611 |ZHEE Bt leler:! SEZ2AEC, Zatr #so| | 6 400,000
8| 611 |=HEE OAQE gtz 2lEy oo 1 200,000
9| 6/11 |ZREE SIgtOOEH REA 10 Q| CH 2 200,000
10 611 |ZHEE NoHo® AEA 1h 2 I ) 300,000
1M 611 |ZHEE dRO0=47I00 AEA 1h 2 I ) 300,000
12 611 |ZHEE OO 0% S 2440071 78 | 400 200,000
13 6/11 |ZHEE oLOCtORY0O =Z 200 = 200,000
14| 6/11 |[=HEE 0|OOE EHits= Q| gfA ] 10 100,000
15|  6/11 |[=HEE 320 HEH2E 3|2 100,000
16| 6/11 |ZHEE SO AEH Y |2 100,000
17| 6/11 |FLEE =l loloX () XE74 2L < o 7 1,000,000
18] 6/11 |ZHEE ogtolozE oFold 1074 8| 10 300,000
19 611 |FREE | HHEHOOSAZIOOX T 2IO 228 9 M| s 150,000
20 6/11 |ZYUEE OAEl 2tz oFol124 4 8| 24 720,000
211 6/11  |ZREE HOO(The OOO0) X7 1k @ | 2 300,000
22| 611 |ZYUEE OH¥ElOTO REA 1o o | 1 150,000
23| 6/11 |SHEE gds000 2 21274 M| 12 400,000
24| 6/11 |ZHEE HNAEOOZRO XEA 1Ch 2 | 3 300,000
25 6/11  |ZHEE 0f =, 4= S E500g 4074 | 40 1,200,000
26| 6/13 |2HEE HOOZ EAEJ| 5O, CFX| 7| 5C4 0| 10 300,000
27| 6/13  |2HEE ostoo7| ofojAErA 171 207Y 71| 20 400,000
28] 6/13 |Z=YEE OO AEOOMH ME7| 1oy T 50,000
29| 6/13 |SYUEE FOTXIO0RIO A 1 9l T 300,000
30 6/13 |=YEE ZOOM7tOO=X| == | - 100,000
31| 6/13 |ZAEE FOUSO £0tEQOSO =g 2| - 100,000
32| 6/13 |=YEE FOMWEO AOFXIOF szt M| o1 100,000
33| 6/13 |=HEE SHTO000 stst oo 100,000
34 6/13 |ZHEE 0%0 ojoj=ztol7| Nl s 500,000
35| 6/13 |Z=YEE oodd ME7| 2ty o 2 100,000
36| 6/13 |=YEE FFTO000 2E*00 g | - 200,000
37] 613 |ZHEE FsTO00EY g o - 100,000
38 6/13 |ZHEE FdsTO000H2 = | - 100,000
39| 6/13 |=HEE OO000=d szt N1 100,000
40 6/13 |REEE HOO(The OOO0Q) Stet M 1 100,000
41| 6/13 |FEE olo= =23 I 600,000
42 613 |FEE HO=F SHE o - 600,000




=4 g% # SRt LH e EHatol
UXt 5
6/13 |ZHEE ATEFERIO000 2a 300,000
6/13 |SHEE OO7HEFAO00 == 1,000,000
714 |SYUEE k= O00A SAZ oA 1,500,000
122 |ZYUEE 2032 MR QAX| 374, oflof 3 1,500,000
122 |=HEE OOSAHIH w2E x| 2 100,000
122 |=HUEE HOO(The OOO0) WA, ZX|g7N 8 200,000
122 |=HUEE {00 MIgE gif 8 300,000
122 |ZYUEE HoOo% weI:, EX|g7| 16 400,000
12/4 |ZYUEE dOAt s 5 200,000
12/4 |ZHUEE OO0} =3100 100,000
12/4 |ZYUEE olor=pn! ofo{z=2to|7| 374 900,000
12/4 |ZHUEE OO H2Z A =dF 200,000
12/4 |ZLEE ozt Fa 200,000
12/4  |ZHEBE Hle)=} MqE = 50,000
12/12 |ZHEE et= 0000 ol 274 1,310,100
12/12 |ZHEE et= 0000 #7071, Sa==KHE| 7071 945,000
12/12 |2 HEE et 0000 H2HIOA707H, HEAZMETON, =&AL 7174 2,310,300
FHUEE g 24,285,400




FHT AHEEAMAM

120244 1Y 1LEE 2024 128 312X

e Arg LS ao |EE%E e ol
T =B 0%
6/4 2024'F H|143| | URA EX| 2| SHEA 44,000 = i@ EZ )| XY
6/4 20249 H|143| S ULEA BX| 2G| SHEA 125,000 = 7|19 &| HIXE
6/4 20243 H142| S|YRA EX| 2| SEEA 192,000 g FLrmPoYiiof(R A=) | HIXIE
6/1 20249 M23| BHSHE 2(R)7HE A 1,040,000 = A0 (X| 2 T) | 5 X H
12/6 |2024'd HO|& 7t&1 S X7 gHshe $A9l 8| 3,000,000 2 AlCHH|(OF2 20}E)| H|X|H
HIX|Y 23 XIE A 4,401,000
ZUS XE A 4,401,000
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120249 1€ 128 H 2024 122 317X

as NEATE: AEH 2mL T ue| sy
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6/15 6521X| TV 1C4 H23| 27tE=H & oo 1 1,000,000
2 6/15 ALDHE 204K} M2z 27t5=H| 2 7| 20 300,000
3 6/15 XA 204 M2z 27t5=H| 2 o 2 300,000
4 6/15 =83 200 M2z 27t5=H £ = - 200,000
5 6/15 XA 2 22 27t5=H| 2 o 2 300,000
6 6/15 =73 1074 22 27t5=H| £ 78| 10 200,000
7 6/15 SSZEE O, =2t EsoY 22 27t5=H| £ | 6 400,000
8 6/15 SZ a1 22 27t5=H| 2 I 200,000
9 6/15 XA 2 22 27t5=H| 2 o 2 200,000
10| 6/15 XA 2 M2z 27t5=H| 2 o 2 300,000
11 6/15 XA 2 M2z 27t5=H| 2 o 2 300,000
12| 6/15 2440074 HM23| 27tE=H| & 7 | 400 [ 200,000
13| 6/15 =3 200 H23| 27tE=H| & = 200,000
14| 6/15 Etibs= Q| M2z 27t&5=H 2 o |ea] 10 100,000
15| 6/15 AEHE 2 M2z 27t&5=H 2 2| 2 100,000
16| 6/15 AEHE 2 M2z 27t&5=H 2 2| 2 100,000
17| 6/15 XA 2L 2| M2z 27t&5=H 2 o 7 1,000,000
18| 6/15 QeI 1074 M2z 27t&5=H = d | 10 300,000
19| 6/15 228 9 M2z 27t&5=H £ M| s 150,000
20| 6/15 QtoI244 M2z 27t&5=H 2 8| 24 720,000
21 6/15 A 10H 2 M2z 27t&5=H 2 ol 2 300,000
22| 6/15 XA 104 M2z 27t&5=H 2 o 150,000
23| 6/15 2 Q1274 M2z 27t&5=H 2 M| 12 400,000
24 | 6/15 XA 1H 2| M2z 27t&5=H 2 o 3 300,000
25| 6/15 %5009 407| H23| 27tE5H| & 0 | 40 [ 1,200,000
26 | 6/15 EAE7| 50f, CkX| 7] 54 M2z 27t&5=H 2 78| 10 300,000
27| 6/15 OfO| AEFA 171 2074 H23| 27tE5H| & 71 | 20 [ 400,000
28 | 6/15 ME7] 104 M2z 27t&5=H 2 oo 50,000
29| 6/15 XA 1H 2| M2z 27t&5=H 2 o 300,000
30| 6/15 =23 100 M2z 27t&5=H 2 H - 100,000
31 6/15 =23 100 M2z 27t&5=H 2 A - 100,000
32| 6/15 otk H22| 27t5=H 2 Moo 100,000
33| 6/15 kelhely H22| 27t5=H £ Moo 100,000
34| 6/15 oloj=2t0]7| 2| H22| 27t5=H 2 Nl s 500,000
35| 6/15 ME7| 2CH H22| 27t5=H £ ol 2 100,000
36| 6/15 =2 200 M2z 27tE=H = o] - 200,000
37| 6/15 =2 100 H23| 27tE=H| = o] - 100,000
38| 6/15 =2 100 H23| 27tE=H| = o] - 100,000
39 6/15 stehEto|2 A=) 2% 27t5=H| g M 1 100,000
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6/15 22Ol &) X g i 100,000
6/15 3600013 2) H £ A 600,000
6/15 2600(ZE=) X g | 600,000
6/15 2l2 M0/ 2300 & ¢ 300,000
6/15 = A 2| AL 2 ¢ 1,000,000
7/4 Sh= O 7FAZ AL & ¢ 1,500,000
12/5 [(&<2]) 37}, olloj=2to] 274 £ | o3 1,500,000
12/5 (&) 271 & v 100,000
12/5 w478 FX|87Y (E0]5) & Nl 8 200,000
12/5 Z 8 (*H=) & N o8 300,000
12/5 i, FXI87H (CILHS) 2 | 16 400,000
12/5 dExhH57H g M 200,000
12/5 = 2100 & ¢ 100,000
12/5 ojlojZ2to|(Afergn = A 900,000
12/5 F200(HHZ) & ¢ 200,000
12/5 =200(4f= GOl &1t &Hdt= g o 200,000
12/5 dE= 1M &1t &Mst= £ A 50,000
12/12 LTS AN 274 I SAYSE X|Ste BE| A 1,310,100
12/12 B707H, S == KHE| 707K (BH= 2 H S AL I SAYSE X|ete BE| A 945,000
12/12 220 2H700 HEIZMET07H(EH= TS AL HI|ZAYELE X2 £ A 2,310,300

24,285,400




